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B 1. (1) f(a,y) = + 4 — 3oy DL X,

fac(xay) = (:L‘S + y3 - Sxy)x
R E (), 1T+, — THITEVD2S

= (933):0 + (yg)x - (3x?/)w
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= (%), +¥*(1)s — 3y(2)s = 322 +y*- 0 — 3y - 1
=322 +0—3y =322 — 3y
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fylz,y) = (2° +y° = 3ay),

RMPatE (), 1+, — TR TIDLs

= (2%)y + (¥°)y — (32y),
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= 2°(1)y + (y°)y — 32(y)y = 27 - 0+ 3y” — 3z - 1
=043y — 3z =3y> -3z

(2) f(z,y) = cos(3x — 2y)
cos(3z — 2y) & cos x(3x — 2y) TIERWVWD S {cos(3x — 2y)}. &
cos{(3x — 2y),}, —sin{(3z —2y),}
2 LTI 5720, sin BN LB ZMIr 3 % & i (sint), = cost &
fEiH7% TR S0,
LB, 3r—2y=t&BL t2=cos(3z—2y) 1& 2z = cost & t = 3x—2y
DE BRI 73 % 2 6 G RBIR DM TR % > T
f:c(xay) = (COSt>t X 1y
= (cost)y X (3 — 2y),
= —sint x 3 = —3sin(3z — 2y).
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fy(@,y) = (cost)y x t,
= (cost), x (3z — 2y),
= —sint x (—2) = 2sin(3z — 2y)

(3) flz,y) =€
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fo(z,y) = <€t>t Xty
= () x (2Y)a
=e' xy=ye”

(4) f(z,y) = e cos(3x — 2y)
STzDODBAEL e™ & cos(3x — 2y) DIEE ATHDOWITEZES.

fo(z,y) = (e™), cos(3z — 2y) + €™ (cos(3z — 2y)),
(2), (3)IZ&D

= ye™ cos(3x — 2y) — 3™ sin(3z — 2y)
= e™(ycos(3z — 2y) — 3sin(3z — 2y))
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fy(x,y) = ("), cos(3x — 2y) + €™ (cos(3x — 2y)),
(2), (3)1IT&D

= ze™ cos(3r — 2y) + 2¢™ sin(3z — 2y)
= €™ (z cos(3x — 2y) + 2sin(3z — 2y))

(5) f(z,y) =3z +y—2

(Y)e =0, (3z), =0 ITFEELT



Jo—(2a=3+0-0=3
Jy—(2)y =0+1-0=1

fo(r,y) = Br 4y —2)p = (32)2 + (
fy(z,y) = (Br+y— 2)y = (3z)y + (
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(6) f(z,y) = 3z +y —2)°

z=f(z,y),t=3x4+y—2 B &,

z=flr,y) F z=1° t=3x+y—2
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folmy) = 2o =z X t, = () x Bz +y —2), =N x 3=27(3z +y — 2)®
folmy) =z =2 xt, = ")y x Bz +y—2), =9 x1=93z+y—2)8

(7) flz,y) = 22° — 3zy + 2y°

(3zy)e = 3y, (3zy), = 3z,

(2y%), =0, (22%), = 0WTHEREL T

fo(z,y) = (227 = 3wy + 29%), = (22°), — (3ay)s + (24%). = 42 — 3y
fylz.y) = (22° = 3zy + 2y%), = (22?), — (Bzy), + (2y°), = =32 + 4y

(8) flz,y) = /22> — 3zy + 2°

z= f(z,y),t =222 = 3oy + 2y £ BL &,
z= f(z,y) &z = Vt, t =22 — 3oy + 2y°
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folw,y) = 2o = 2 Xt = (V1) (207 = Bxy + 2y°), = 552 % (42 — 3y)
dxr — 3y
B 24/222 — 3y + 21>
fy(,y) = 2, = 2 x t, = (V1):(22% — 32y + 2¢2), = ﬁ X (—3z + 4y)
-3z + 4y
" 2227 — 3zy + 22




